z62't $ :1vliOl
018 $ ‘DT
8010 $ ‘R ¥
080 $ Eln £
€0-€0-LT0Z ¢ FR

£0°'187 SL'0T02 L80V W10L
00°€T 00°LTT %S | %005k 092 R (2 092 092 =8
losos  oosse %8 | %0005 | oz | o 01L otz | =88 i

ogs  |oo9 %8 | %0009 | ot | 0Tt 0Tt ort | BBV a2 | sz/z/iioe
[ ~losv  Joooe | w8 %0005 | %0 |09 09 o9 L | ==

E A T %8 | %00SS | %0T |9v ; . of los s8v | B2l | Lt

os9  losss %S | %005y 0€T - 0€T 0€T 0€T 58

0096 00009 | %8 | %000S 00T L 0021 0021 o0zl | ==8 | BSlo | weitor |

s0/s  |svels | %S | %00y Wit [ |wu Wit |wit | s®) |

oot losza | %8 | %000 | et | szl szt szt | =BE |

ovvz  |ooesT | %8 | %0009 st | |soe e |soe | =®v | Whio | ue/moe |

T In RO | FERER |(»DIRE| %R wd | g |TRABk | EmAE | 2hER | kE Eh | ke ik 5= Slode B




